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CXNYE el
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SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 A& HI 1,954,708 0 1,954,708
OZEMA SUKAEXNSE FHI 1,954,708
= 977,354
< 977,354
03 A& 20 Y| 5,292 0 5,292
S3AX SURE XS HH| 5,292
= 2,646
& 2,646
WEOHN S AIE &bl 300,000 200,000 100,000
401 Al HI YL 2 0HHI 300,000 200,000 100,000
01 A& HI 298,000 198,560 99,440
OnNEUN ASEAIE AHH| 298,000
03 A& 2 0H b 2,000 1,440 560
OnNsotd A AE &bl 2,000
LE: 3T B 700,000 600,000 100,000
401 Al HI 2L 2 0HHI 700,000 600,000 100,000
01 A& HI 696,000 596,220 99,780
s IRE B 696,000
03 Al& 201l 4,000 3,780 220
OLz BRE w2 4,000
bl 22 & 410,000 325,000 85,000
401 Al HIL 201 410,000 325,000 85,000
01 Al &bl 407,500 322,660 84,840
Ot 22 JHl 407,500
03 AlE 201l 2,500 2,340 160
Ot 2&&2 Fd| 2,500
NSMIHY L 2SEs 1,030,000 ,000,000 30,000
401 AIEHIL 200 1,030,000 ,000, 000 30,000
01 A& HI 1,022,360 992,440 29,920
OEzEX& &AX 149,000
OusEStMEX Z AX| 99,100
OXrE &M 248,200
O/ XS AMAILAE FHH| 278,000
otz KA 198,600
OXNgez LA 2l At 49,460
03 Al& 201l 7,640 7,560 80
Oz EX& &X 1,000
OusSHNMEX T AX| 900
O Xp& =M 1,800
ORKE XA CtMAIEZS &bl 2,000
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ANee gAz2el € e+ 896,909 933,337 N 36,428
101 1244 dl 13,518 12,791 727
04 JIZHHZ22XEE S 13,518 12,791 727
OMM o NYE2LELTY B5
50,5803 «5H x50 12,645
OdHE=RE=S 873
201 Let2d] 225,763 246,136 A 20,373
01 At 22l 30,900 40,900 210,000
Oagtd & =EHl 27,000
OWdH£ H=E & H27 150,000& 6 900
OBHG=@ Sgos 2AAY|
5,000& «6H 503 1,500
Og®IIe 85 el (14U) 1,500
02 =224l 194,863 205,236 A 10,373
OXIIZ(HY < XotiT S 14M2)
11,000,000& 122 132,000
O==dX2Y &3z, CCTV, ENHAES
2,400,000& 123 28,800
OFMIIHFEH>+2(HYEY & XoHAE)
1,200,000& =122 14,400
OWEC=FH RA22 2,500,000 2% 5,000
Oul=2l ==cl 100,000 5104 5,100
OUHII |RFH 1,87591 %1004 510K 9,563
202 Od4dl 12,000 12,000 0
01 = LH 4 bl 12,000 12,000 0
OMHIHH ¥ 2 E %Y 12,000
204 AR AH| 24,600 23,400 1,200
03 SHZRFHI 24,600 23,400 1,200
oug st 50,0003 x41H «12& 24,600
206 M= Hl 600,000 600,000 0
01 =8l 600,000 600,000 0
OE2E=82 M= 270,000
OXFAB+=E M 100,000
OXEEME THE 120,000
ONSHHEANE Wz 90,000
OEZANEE HE 20,000
301 et d s 16,028 9,010 7,018
09 SALAHIEA S 5,628 1,110 4,518
OXNYE B3 HMISAMXF 30,000 *37H 1,110
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OXNge B3 AFU=S 7,000& 37 +23] 518
O B3 FEEAX S4HAFE
500,000& x4H +23] 4,000
1MIIEELES 10,400 7,900 2,500
OWEFNO E4 20,000& »20H 400
OXNgE |SX2el Ikt 24
500,000& x203! 10,000
405 XHoHF S HI 5,000 30,000 A 25,000
01 AL EZFH S 5,000 30,000 A 25,000
O&E2Y ZHIJIE WlH2I 400,000 =10CH 4,000
OE=2Y IF=2MANE IS 500,000& »2CH 1,000
NEe KA 400,000 400,000 0
401 Al HI K 201 I 400,000 400,000 0
01 A& HI 397,500 397,120 380
OXNgE SANE=> 397,500
03 A& =2 THHI 2,500 2,880 A 380
OoXNge RAE=+ 2,500
g ¥ HE |2 1,363,350 1,155,200 208,150
201 et 63,350 55,200 8,150
02 232gHl 63,350 55,200 8,150
Ooug & HE sl 63,350
401 Al HIZ 201 I 1,300,000 1,100,000 200,000
01 A& HI 1,292,100 1,091,910 200, 190
OnzdEY 298,000
Oong=E= 895,000
OHY &« XotHE RAES 99,100
03 A& =2 THHI 7,900 8,090 A 190
Ongdzasd 2,000
Ong=E=+ 5,000
OHE & KNotxHE SALE= 900
AL FH |X2 559,719 474,650 85,069
g Y FHdl A2l 419,719 354,650 65,069
201 Let24E] 404,719 354,650 50,069
01 At 22l 93,700 49,150 44,550
Ouxstz Sz 50,000 210K 1,050
ou=l 1,650
-X3d AY=E S 150,000 11 1,650
OXgE |A2el LI2tEH gX=z 90,000
OHMXE H=HMclAlE =Xl 1,000
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-Y&8= 16,000
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A& DI H 700,000& = 10CH 7,000
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100, 000& *150H x23] 3,000
- XS XA 250,000 150 x23] 7,500
—ZHI A AL =42 2,125
NE=P; 35,000& *15CH *13] 525
- HAE DA 80,000& x10CH x23] 1,600
OA&E&Hl XYl 188,574
—2A&I|H, &Hl XU (24 S) 38,574
—A&I|H, EH SFH (24D S) 150,000
OXYgE SA&eE& XHea ety 93,320
-SEs5E 4,380,000 = 1CH 4,380
-egssE 7,130, 000& *2CH 14,260
-NEsE 3,880,000& =2CH 7,760
-SEAE 3,570,000 = 1CH 3,570
-AESE 3,770,000& = 1CH 3,770
-=832 3,980,000& *5CH 19,900
-EdEdH 7,440,000& = 1CH 7,440
-EdgH 7,440,000& = 1CH 7,440
-C=s&EXt 14,600,000& 1 CH 14,600
- HAH AL 10,200,000 = 1CH 10,200
O Z2L¥S YYo= o =t 500
~ZEY I3YE 250,0002 *24! 500
ZAMZ 15,000 0 15,000
ZzAZ 15,000 0 15,000
Oczodel RN SHX A8
500,000& »30H 15,000
AEI|HES 140,000 120,000 20,000
405 XtabF SHI 140,000 120,000 20,000
&L EEFHSHI 140,000 120,000 20,000
OWACHE X2k 40,000,000 = 1CH 40,000
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OEZEAM 30,000& x50 1,500
ode 100, 000& *507H 5,000
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101 2121 4| 4,378,986 3,940,964 438,022
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— 2 HH A 1,536,747
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S 672 30,000 x19 122
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28 10,0008 x1& ~12&
2 20,000 «2F «128
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PN = 45,3403 x15& 681
- =54 45,3403 «114 5,169
-5 68,0102 92 613
- g &S0t 11,425,680 / 128 »120% 1,143
— JHAN X &Yl 11,425,680% /128 *25% 239
- wSH| 110,000 128 1,320
- =S &Hl 110,000 =122 1,320
Okz=Ex3=+ 1,475,309
-Jl2s 51,2403 #3652 «37H 691,997
-&d0= 691,996, 200& / 12& »400% 230,666
-&AJ2ExE 286,944 3 x 128 «37H 127,404
—ANZ2Z22=E  9,6073 x15A1 2 x 12 «37H 63,983
RGP =, 51,2403 x152 «37L 28,439
-5 76,860 x12 «37Y 34,126
- g &S0t 691,996,200 / 12& »120% 69,200
-IE=4 40,000 =128 «37YH 17,760
= JtAI X3 bl 691,996,200% /12& *80% 46,134
- w sl 110,000& = 128 «37H 48,840
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-fEz2e*+g 40,000 =128 «37H 17,760
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405 TtobFH S| 11,400 10,600
01 ML ESHS 11,400 10,600

Odegl 3,000,000% «1CH 3,000

OZect=gH 3,500, 000 *1CH 3,500

ozZgH 1,500,000 *2CH 3,000

OZ2MESII 600, 000& 1CH 600

od&dn 500,000& = 1CH 500

omw 800,000 1CH 800




